129

T ModTruss..

W

4



130




Stair Tread 48" Wide
Part Number | MT-AC-ST-TR-48-30

Note | 30° Fixed Stair Tread

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

5052-H32 Aluminum Diamond Plate

02 - No Finish

N/A

5.79" x 48" x 11.81” (146.95mm x 1219.20mm x 299.87mm)
20.351bs (9.23kg)

11/16" (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8"” SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1
www.ModTruss.com

Electrical Hazard

& X IO

Flammability In Stock Made To Order Customizable Reusable Serialized & Traceable

Compatible

U.S. Patent No. 8,418,425 & other patents pending

R
X
PL
H
PA

HG

HW
TK
MH

L




132

Series | AC Access

Product Number | MT-AC-ST-TR-48-30

0€-8y-dl-IS-OV-IW

SEIENON LEYd

Av3yL dIvIS

N_z_zo_ﬁs#_ 7102/ 16/1 NCUdI¥D530
wmeselaes  NSSNALPOW ,
- —
i - f
,00'08 3SIy
(S69v1]
6L°G
| T
NNY 7
[£8°662] —=
18°L1
029
00€

ozslel]
00'8F
[08'70¢] [08'+0¢]| [08v0€] [08v0¢]
00l 00zl 00zl 002l
O O O
(0T94] L lovse]
00°¢ 0S°1
O 0] @] (@]
o] @]
8 (S] W (]
97"/ ;I\
69"

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



Stair Stringer 24" x 30° TR

Part Number | MT-AC-ST-ST-24-30

X
PL
H
PA

HG

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear
Available Finish(es) | 10-12, 20-33
Size | 6"x23.2"x39.82" (152.40mm x 589.28mm x 1011.43mm) HW
Weight | 32.05lbs (14.54kg)
Hole Size | 11/16" (17.46mm)

Recommended | 5/8"-11Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (M16x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut) TK

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

MH

) 0 FH

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending




134

0€-¥¢-1S-1S-OV-IW
JIONIYLS dIVLS ©3A0E

mz.zozai 8102/61/6

-l
WW NI 33 SNOISNIWIQ [ ] 1340vag ’ mm:-—— D
l6s'L] 90% - QIW: BATINOISIDRI | = _U —_}_

“43GWNN 13Vd

(02685 ]
0T'€T

Product Number | MT-AC-ST-ST-24-30

Series | AC Access

NSSNALPOA hvE

U.S. Patent No. 8,418,425 & other patents pending



36" Adjustable Stair Assembly

Part Number | MT-AC-SA-AJ-XXX-XXX

*Call for configuration assistance

Standard Material
Standard Finish
Available Finish(es)

N/A
N/A
N/A

Size | 36" (914.40mm) Wide Stair Tread, Height and Length Per Order
Weight | --
Hole Size | 11/16” (17.46mm)
Recommended | 5/8"-11Thread Grade 8 Bolt, 2.5" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (M16x2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)
Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com
P O ©
ODQ
RDC
Made To Order Customizable Reusable

U.S. Patent No. 8,418,425 & other patents pending

L
B
L
JH
PR

L

Hw
AL
M-

L




136

Access

Series |

Product Number | MT-AC-SA-AJ-XXX-XXX

OOOIOOOI—I<I<mIO<II_|§ “YIGWAN L3Vd

ATAWISSY dIVIS F1aVISNrayv .9¢

‘NOILdIdOS3a

aN .zo,wSmi 8102/9/T

[08'] £0°F - GIW : TIAITNOISIDI¥d
WIN NI 3V SNOISNIWIA [ 1 13¥0va8

.
S SSNALPOA M‘._E

wioyp(d /m
JUBWIBAOW ASDS 1O}

MO[|0 O} Sa30Ig /M
190D [OAIMS

195
AIDJS BUJ Uiim sjsnfpo
AIOD1PWOIND [IDJPUDH

£
3INIONI 33¥D3A 0€ LV 31y D
009 >
[rest] \

i.\ .

Z, ,,\
/

|\

\

3INITONI 33¥D3A 06 LV 3SIY
616 .

[6v'e€] .r\..
‘\.\.

uolow Jo aBuni By}
1NOYBNOIY} JUDYSISUOD jdoy
sl jubley InIPUPH 2y

NSSNALPON %05

U.S. Patent No. 8,418,425 & other patents pending



Universal Ladder Rung TR
Part Number | MT-AC-LR-1800-0900-0450 |

B
L
JH

PR

L

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear
Available Finish(es) | 10-12.20-33
Size | 18" 9" x4.5" (457.20mm x 228.60mm x 114.30mm) HW
Weight | 17.10lbs (273.60kg)
Hole Size | 11/16" (17.46mm)

Recommended | 5/8"-11Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (M16x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut) TK

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

M-

L

WADe
el
RDE,

Made To Order Customizable Reusable Serialized & Traceable

\ .T\‘ | ModTruss.. U.S. Patent No. 8,418,425 & other patents pending




138

Series | AC Access

Product Number | MT-AC-LR-1800-0900-0450

05%70-0060-0081-d1-OV-IW

“JIGWNN L3V

ONNY d3AAVT TVSIIAINN

‘NOILI¥OS3a

LA NOISIAZY 7 8102/S/6

W NI 33V SNOISNIWIQ [ ] 13%0vae
[66°1] 90'F - G3W : TIAFTNOISIOINd

MSSNALPO %

[02°9/]
00°€

[9v'£1]
dAL 69°0) / [02°9/]
dAL 00°€
* o o o ©
[0Sy L]
0S¥y
| O 0 0 o
[0T'£5Y]
008l
[or'se] 4
001D
f
[09'8¢C]
006

f——

,ﬁ [0s2l]

oS

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



ModPanels with 1” Plywood (Heavy Duty)
48" x 96” ModPanel Rated for 150 PSF

Standard Material
Standard Finish
Available Finish(es)
Hole Size

Recommended
Hardware

Recommended Tools
For More Info

5052-H32 Aluminum and 1” Plywood

01 - Brush Finish and 95 - Enamel Satin Black
5052-H32 Aluminum | 20-33

11/16” (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1
www.ModTruss.com

Part #

Size

Weight

Description

MT-AC-MP-06-048-048 | 48" x 48" x 6" 67.40lbs

48" x 48" ModPanel (1219.20mm x 1219.20mm x 152.40mm) (30.57kg)* Weight Variance of +/- 2.5lbs
MT-AC-MP-06-048-096 | 48" x 96" x 6" 154.201bs

48" x 96" ModPanel

(1219.20mm x 2438.4mm x 152.40mm)

(69.94kg)* Weight Variance of +/- 5lbs

Flammability Made To Order Customizable

©

Reusable

U.S. Patent No. 8,418,425 & other patents pending

L
B
L
JH
PR

L

Hw
AL
M-

L




140

Access

Series |

Product Number | MT-AC-MP-XX-XXX-XXX

XXX-XXX-90-dW-OV-LW

“¥FIWNN 13Vd

S1ANVd AOW

INOIJINOS3Ia

AN NOISIAY 7 810z/01/L

WW NI 38V SNOISN3WIQ [ ] 134038 mm:&.—.ﬁuo_\/_ |
[65°1] 90'F - GIW : TAAFTNOISIO3¥d

881"
000+

= HLAIM ANV HION3T T1V43AO dO4 3ONVIFI0L

TV13A I3INJOD IAISNI

v

/ ” O X
\ \ \

MIIDS AVIH LVT4 81-91/S ﬁ
INN-XDOT NOTAN 81-91/§ [ N\ &

4IHSYM 3VS 91/S = \ P

E?(E}{»{!LI.»{\\U&{»{.»‘P
“ e SO/ g YL

ov° /L] .
dAL 690 |\ 029/
00'€

_lorgg]
0S'1

°

ores] ajajelolelalale:

INN-XDOTNOTAN 0Z-¥/1
JIHSVM IVS .7 /1

JIHSYM IVS /1

INN-XDOTNOTAN 02~/

NSSNALPON %05

U.S. Patent No. 8,418,425 & other patents pending



Steel Plank 3" TR

Part Number | MT-AC-MP-03-12-XXX
Rated for 175 PSF (over 10" span)

LA
L

I

PR

Standard Material | A36 Low Carbon Steel H G
Standard Finish | 33 - Fine Texture Flat Gray
Available Finish(es) | 20-33

Hole Size | 11/16” (17.46mm), 1/4” (6.35mm)

Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

MT-AC-MP-03-12-012 3"x 12" x 12" (76.20mm x 76.20mm x 304.80mm) 8.65lbs (2.22kg)*

MT-AC-MP-03-12-024 3"x 12" x 24" (76.20mm x 76.20mm x 609.60mm) 17.31lbs (7.85kg)*

MT-AC-MP-03-12-036 3"x 12" x 36" (76.20mm x 76.20mm x 914.40mm) 25.961bs (11.77kg)* HW
MT-AC-MP-03-12-048 3"x 12" x 48" (76.20mm x 76.20mm x 1219.2mm) 34.61lbs (15.70kg)* |
MT-AC-MP-03-12-060 3"x 12" x 60" (76.20mm x 76.20mm x 1524.0mm) 43.271bs (19.63kg)*

MT-AC-MP-03-12-072 3"x 12" x 72" (76.20mm x 76.20mm x 1828.8mm) 51.921bs (23.55kg)* TK
MT-AC-MP-03-12-084 3"x 12" x 84" (76.20mm x 76.20mm x 2133.6mm) 60.571bs (27.47kg)* [
MT-AC-MP-03-12-096 3"x 12" x 96" (76.20mm x 76.20mm x 2438.4mm) 69.221bs (31.40kg)*

MT-AC-MP-03-12-108 3"x 12" x 108" (76.20mm x 76.20mm x 2743.2mm) 77.88lbs (35.33kg)* M H
MT-AC-MP-03-12-120 3"x 12" x 120" (76.20mm x 76.20mm x 3048.0mm) 86.531bs (39.25kg)* —

WADe
e}
/?D‘%Q‘

Made To Order Customizable Reusable

U.S. Patent No. 8,418,425 & other patents pending

L




142

XXX-CL-€0-dW-OV-IN
ANVId 13318
Snzo;_ai 8102/5/6 . ...h,ﬁ.u—,m_mumm
wrmegrasiazg |- SSTMLPON .n—-E fol-g]
- — 051
[5€9]
dAlL ST

Gﬁww; J e | $LT
1 L |
f lleeoe] | — [ow9z]

[sv61] 7611 00%€
Ll
L [8rst]
B47. ﬁ 19
16T
dAL y ¢
[0T9] —
00
[S€9]
ST
>
>
V_A
al 0Z1-21-€0-dW-DV-IN 0C1
%_ 801-C1-€0-dW-OV-IW 801
a 960-C1-€0-dW-DV-IN 96
= #80-C |-€0-dW-DV-IN 78
“w = 2L0-T1-€0-dW-DV-IN 2L
17 S 090-2 1-€0-dW-DV-IN .09
L = 870-C1-60-dW-OV-IW 87
N - 9€0-2 1-€0-dW-DV-IN 9€
< ¥20-C 1-€0-dW-DV-IN Kz
S Z10-21-€0-dW-DV-IN 2l
__ = 43GWNN L3V HLONTT
s
(%) =
v °
= &
7
w)

U.S. Patent No. 8,418,425 & other patents pending

NSSNALPON %05



Decorative Handrail Complete Set
Part Number | MT-AC-HR-DP-41-48-AS

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel and Polycarbonate Insert

01 - Brush Finish

20-33

41" x 47" x 0.31" (1041.4mm x 1193.8mm x 7.87mm)
55.851bs (25.33kg)

172" (12.7mm)

4x - 5/16"-18 Thread Bolt, 1" Long | 8x - 5/16” Washer | 4x - 5/16"-18 Nylock Nut

Tool Kit 1
www.ModTruss.com

Flammability

I\ ﬂl ModTruss..

WO
o010
/?D?/Q‘

Made To Order Customizable Reusable

U.S. Patent No. 8,418,425 & other patents pending

Serialized & Traceable

L
B
L
JH
PR

L

Hw
AL
M-

L




144

Series | AC Access

Product Number | MT-AC-HR-DP-41-48-AS

SV-XX-1y-dd-3H-OV-IW

AIFWAN 13Vd

TVIANVH JAILYIODO3Id

‘NOILI¥OSIa

_>‘zo_w_>ui 8102/01/6

« i
WW NI 3¥Y SNOISNIWIQ [ ] 13X0vae J.u—_. ““ :LFCG T_J_— ke

[651] 90'F - G3W : TIAFTNOISIDI¥d

SV-96-1y-d0-OV-IW W96
SV-09-1¥-da-OV-IW .09
SV-87-1y-dQ-OV-IW i
SV-9¢€-1y-da-OV-IW W9€
4IGWNN Lavd H1AIM

[or°ees]
0012

[9v'L ;\

69°}

[08'€611]
002y
[02'696]
& 00'8¢
[26°¢]
330 /
u/. e []
[0v'€eS]
00te (o7 1v0L]
00'ly
H—e o []
. [0805]
00T

NSSNALPOA hvE

U.S. Patent No. 8,418,425 & other patents pending



Decorative Handrail Steel (No Insert)
Part Number | MT-AC-HR-DP-41-48

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel

25 - Silver

20-33

41" x 47" x 0.31” (1041.4mm x 1193.8mm x 7.87mm)
41.35lbs (18.76kg)*  Not Certified

1/2" (12.7mm)

N/A

N/A
www.ModTruss.com

I\ ,Tf__}' ModTruss..

Made To Order Reusable

U.S. Patent No. 8,418,425 & other patents pending

Serialized & Traceable

L
B
L
JH
PR

L

Hw
AL
M-

L




146

Access

Series |

Product Number | MT-AC-HR-DP-41-48

XX-1¥-dd-3dH-OV-IW

-438WAN 1dVd

LJ3SNI ATIOd LNOHLIM
TVIANVH FAILVYIODOId

NOILI¥OSIA

;iozii 810Z/11/6

Ak
il
wisegreisny |- SoNALPON h—-E
- —

96-1¥-d0-OV-IW W96
09-1¥-dQ-OV-IW .09
8y-1y-dd-OV-IW g
9¢€-1¥-d-OV-IW W9€
JIGWNN Lavd HIdIM

[o7'egs]
00'12

[9v° 1] \

69° @

Xy
[¢6'6]
0

[08€611]

002y

[0T°59¢]
00'8¢

~

00°

[or°ees]

e

| [os05]

00C

[l

00

0l ]
4

NSSNALPON m_r..._

U.S. Patent No. 8,418,425 & other patents pending



174" Thick Polycarbonate Clear Insert (No Graphics) TR
Part Number | MT-AC-HR-DP-POLY-41-48

X
PL
H
PA

HG

Standard Material | Polycarbonate
Standard Finish | 02 - No Finish
Available Finish(es) | N/A H W
Size | 35.50"x41.50” x 0.25” (901.70mm x 1054.10mm x 6.35mm)
Weight | 14.20lbs (6.44kg)

Hole Size | 1/2” (12.7mm) TK
Recommended | N/A
Hardware
Recommended Tools | Tool Kit 1 | 9/16” Combination Wrench and Socket
For More Info | www.ModTruss.com M H

FH
O © & © 0 0O —

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

| [ ModTruss. U.S. Patent No. 8,418,425 & other patents pending




148

Series | AC Access

Product Number | MT-AC-HR-DP-POLY-41-48

XX-17-AT10d-dd-dH-OV-IW

GWAN 13Vd

TVAANVH JAILYIODO3d

‘NOILI¥OS3a

S.zo_w_ai 810Z/11/6

W NI 3V SNOISNIWID [] 1350V a8 Ju; mm:;-hU.DE

[65°1] 90°F - Q3N - TAAFTNOISIDIN

96-1¥-A10Od-dd-OV-IW W96
09-1¥-AT1Od-dd-OV-IW .09
8v-1¥-A110d-dd-OV-IW i
9€-1¥y-A110d-dd-OV-IW W€
J3GWNN Ldvd HLdIM

Xy

[¢6°6]
&g /

[or°egs]
00'1T

L [se9)]

ST

[0T°59¢]
00'8¢
AW
[0£10¢]
05°6e
+
[01'G9L]
0SrX 059
[01¥S01]
0S Ly

NSSNALPOA E

U.S. Patent No. 8,418,425 & other patents pending



Handrail Side Mount Series TR

B
L

I

PR

He

MT-AC-HR-SM-12

MT-AC-HR-SM-26

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear
Available Finish(es) | 10-12, 20-33
Hole Size | 11/16" (17.46mm), 1/2" (12.70mm)* *Only on MT-AC-HR-SM-26 HW

Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8"” SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1

For More Info | www.ModTruss.com TK
MT-AC-HR-SM-26 2.56" x 25.50” x 2.25" (65.02mm x 647.70mm x 57.15mm) 10.0Ibs (4.54kg) M H
MT-AC-HR-SM-12 2.56” x 11.00” x 2.25” (65.02mm x 279.40mm x 57.15mm) 4.401bs (1.99kg)

Electrical Hazard Flammability In Stock Made To Orde Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending




150

XX-WS-dH-OV-IW
INNOW
3dIS TVIIANYH JAILYIOD4d,..,..... e~y [6£25]
SuzoaSmi 810z/01/6 P QN EW x_l_ O< ._.E 90T
wimegieizng |- SSTALDON M'E sl |
957
Ry
5T
o ?@wm& for 1]
. P Al [o7'sZ]
[¢0'9] ﬁ i o0l
95C L D
ZL-WS-¥H-OV-IW T ey &
5T \@ dAL
dAL @ — [olsg]
[reee) [9v'/1] & 05°1
'L 690 ,
_ - o
@
| dAL @
o ?.E o
[ov6.2] — 79 (0L 9] &
i dAlL &
! [02°9/] ©
= Aw oo’ dAlL
= i | ¥ | | — [orsg]
s 0s'l
5 [51°46]
a = 527 NI
$ = | )
< 3 lo101] N fored]
g 007 o
E !
- 2 [S1 28]
Q2 s2T
S
(%}
wv
MSSNALPON Kl

U.S. Patent No. 8,418,425 & other patents pending



Speed Rail Fitting 1.5” TR

B Bt 3N

MT-AC-HC-WYE-S-0150 MT-AC-HC-TES-F-0150 MT-AC-HC-CNR-S-0150 MT-AC-HC-INT-5-0150 P L

I

MT-AC-HC-INT-F-0150 MT-AC-HC-INS-F-0150 MT-AC-HC-ELT-S-0150 MT-AC-HC-ELT-F-0150

PR

He

MT-AC-HC-ELB-F-0150 MT-AC-HC-TEE-F-0150 MT-AC-HC-PNH-F-0150 MT-AC-HC-CAP-F-0150

Part # Description Weight

MT-AC-HC-WYE-S-0150 | 1.5” 540 Adjustable WYE 0.85lbs (0.38kg)
MT-AC-HC-TES-F-0150 1.5” 540 Fixed Tee 0.601bs (0.27kg)
MT-AC-HC-CNR-S-0150 1.5" 540 Adjustable 2-Socket Elbow 1.30Ibs (0.58kg)
MT-AC-HC-INT-S-0150 1.5” 540 Adjustable 4-Way Angle Cross | 1.501bs (0.68kg)
MT-AC-HC-INT-F-0150 1.5" 540 4-Way Cross Tee 0.55Ibs (0.29kg)
MT-AC-HC-INS-F-0150 1.5” 540 Straight Connect 0.55lbs (0.24kg)
MT-AC-HC-ELT-S-0150 1.5" 540 Adjustable Elbow w/ Thru Hole | 1.25Ibs (0.56kg)
MT-AC-HC-ELT-F-0150 1.5" 540 Elbow w/ Pass-thru 0.501bs (0.22kg)
MT-AC-HC-ELB-F-0150 1.5" 540 Fixed Elbow 0.75lbs (0.34kg)
MT-AC-HC-TEE-F-0150 1.5" 540 Tee Thru Hole 0.501bs (0.22kg)
MT-AC-HC-PNH-F-0150 | 1.5” 540 Panel Hanger 0.30Ibs (0.14kg)
MT-AC-HC-CAP-F-0150 | 1.5 Schedule 40 End Cap 0.10lbs (0.04kg)

FH
© O —
Electrical Hazard Flammabily In Stock Made To Order Customizable  Reusable  Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending




152

Access

Series |

Product Number | MT-AC-HC-XXX-X-0150

0G LO-X-XXX-OH-OV-IW

“YIFWON L3Vd

SONILLE TIVY d33dS.5°L

‘NOILI¥OS3a

;zozii 8102/61/6

at
wizegisisey | - SSMALPON .n—-E
-

0510-4-dVD-DH-OV-IW 0S10-4-HNd-DH-DV-IW 0§10-4-331-DH-OV-IW  05§10-4-913-OH-DV-IW

el

0510-4-113-OH-DV-IW  05§10-S-113-DOH-JV-IW

0510-4-SNI-DH-OV-1IW

0510-4-INI-DH-DV-IW

SATHIG:

0SL0-S-INI-OH-DV-IW 0S10-S-¥ND-DH-OV-IW

A H]

\

0510-4-S31-OH-OV-IW 05§10-S-JAM-OH-OV-1W

NSSNALPON m_rg_

U.S. Patent No. 8,418,425 & other patents pending



Edge Protection Series TR

Material | Polyurethane Foam
For More Info | Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

EX

Straight Round Rail

Part Number | MT-AC-PD-6000-0300-0100-R PI.
Outer Dimensions | 2.00" - 3.50”
Inner Dimensions | 1.00” - 2.50"
Length | 60"

M

Straight Square Rail

Part Number | MT-AC-PD-6000-0350-0200-5Q PA
Outer Dimensions | 3.00” - 3.50" -
Inner Dimensions | 1.25" - 2.00”
Length | 60"

HG

L Shaped Rail (w/ Wood Insert)

(Marine Grade Wood insert for easy installation)
Part Number | MT-AC-PD-6000-0600-0400-L

HW

D Rail (w/ Metal Insert) TK

(Marine Grade Wood insert for easy installation)
Part Number | MT-AC-PD-4800-0750-0375
- Recessed Holes

! |11 ModTruss. U.S. Patent No. 8,418,425 & other patents pending



154

FRP (Fiberglass Reinforced Plastic) Decking

Material | Vinyl Ester Resin System
Benefits

-Load Capacity up to 200lbs PSF (variable on span)
- Slip Resistant

- Corrosion Resistant

- Fire Retardant

- Hight Strength to Weight Ratio

For More Info | Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787




	Tom sida



